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QUESTION 1

What is the role of ribosomes? 

A. waste removal 

B. storage 

C. transport 

D. make proteins 

Correct Answer: D 

A ribosome is a structure of eukaryotic cells that makes proteins. 

 

QUESTION 2

Which of these statements regarding facilitated diffusion across a cell membrane is true? 

A. It is a kind of active transport (i.e., does directly use energy such as hydrolysis of ATP) that requires protein pumps. 

B. It is a kind of passive transport (i.e., does not directly use energy such as hydrolysis of ATP) that does not require
transmembrane/carrier proteins. 

C. It is a kind of passive transport (i.e., does not directly use energy such as hydrolysis of ATP) that requires
transmembrane/carrier proteins. 

D. It is a kind of active transport (i.e., does directly use energy such as hydrolysis of ATP) that requires
transmembrane/carrier proteins. 

Correct Answer: C 

 

QUESTION 3

Fill in the blanks: 

Vitamin A, also known as __________, is a __________ vitamin. Its deficiency can lead to __________. 

A. ascorbic acid, water-soluble, night blindness 

B. calciferol, fat-soluble, osteoporosis 

C. retinol, water-soluble, osteoporosis 

D. retinol, fat-soluble, night blindness 

Correct Answer: D 
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QUESTION 4

Which of these statements regarding the process of fermentation is true? 

A. It is an example of tissue respiration where yeast acts on carbohydrates to produce oxygen and alcohol. 

B. It is an example of an aerobic process where yeast acts on a sugar solution to produce oxygen and alcohol. 

C. It is an example of an anaerobic process where bacteria act on a protein solution to produce carbon dioxide and
alcohol. 

D. It is an example of an anaerobic process where yeast acts on a sugar solution to produce carbon dioxide and
alcohol. 

Correct Answer: D 

 

QUESTION 5

Gregor Mendel used pea plants to conduct experiments on genetics and heredity. He grew approximately 29,000 plants
to study seven characteristics: flower color, seed texture, seed color, stem length, pod color, pod texture, and flower
position. Mendel was able to demonstrate that these characteristics were passed from one generation to the next and
that the offspring could inherit the characteristics from either one, or from both, of the parent plants. 

Referring to the passage, tell why it was important that Gregor Mendel used a large number of plants in his experiments
into genetics and heredity? 

A. Pea plants are susceptible to disease, so he needed a lot of them to make sure enough would survive to adulthood to
allow him to draw his conclusions. 

B. With a large number of plants, he could demonstrate that the results didn\\'t just happen by chance. 

C. It wasn\\'t important at all ?pea plants produce lots of seeds, so he planted them all to see what would happen. 

D. Plants don\\'t have as many genes as animals, so he needed more of them to study genetics properly. 

Correct Answer: B 
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